HOOKER ASSEMBLY INSTRUCTION
FURNISHINGS ITEM: 6022-10445-80 Brixton Bookcase

Thank you for purchasing this quality product. Be sure to unpack carefully looking for small parts which
may have come loose during shipment.
Read all instruction and study the drawing carefully before starting the assembly process.

HARDWARE LIST

z
o

Drawing Description Size

@)»nmm») Allen Head Bolt | @1/4x1-1/8"

Lock Washer @1/4"x311x1mm

Flat Washer 1/4"x@18x1Tmm

Wood Screw @8x32mm

Plastic Anchors | @13x@4x38mm

Brackets 77x25x25x2mm

Allen Key 4mm

T | @Q@|M| MO O |(T|>

Tipping restraint

Leveler(4pcs)
Remark: Leveler are pre-installed

Remark: Anti-tip kit restrain is provided. Please follow
the instructions enclosed with the pack.




